Absorption Costing Notes
Imagine someone who custom makes a different product for each customer, eg. a dress designer. When they are asked to come up with a price for what they have made they will include obvious things like Materials (eg fabric), Labour (their own time involved) and the profit they would like to get from the job (eg. 25% mark up on sales). The problem with this type of pricing is that it fails to take account of the overheads of the business which need to be covered (eg phone bills, depreciation, secretarial wages, etc) So under absorption costing we price jobs as follows:


Direct Materials in this job
Direct Labour on this job
Overheads Absorbed in this Job
Profit on this job
=Job Price

But how do we share out the overheads on each of our jobs ?


We decide on a suitable way of apportioning them; eg based on the hours we expect to work this month, the materials cost this month, etc.
(2) We come up with an absorption rate for each job, eg if overheads will be €3,000 and we expect to use up 500 machine hours this month, then the absorption rate will be €6 per machine hour used (the overheads divided by the hours)
(3) We can then apply the rate to any job, eg Mary's dress will need 4 machine hours so we will charge her €24 (€6 x 4 hours) to cover a share of this months overheads.
If the business is departmentalised (eg designing dept and cutting dept) then some of the overheads will have to be absorbed depending on the time needed in each department (overheads like supervisors salary or machine depreciation) while other overheads apply to the business as a whole and will have to be shared out based on total time needed for the job (eg the receptionists wages or stationery)

Worked example: a business with a painting dept and a drying dept. A There are three overheads: factory maintenance €600, office charges €1,000, machinery servicing €400
Painting and Drying Departments 
Job 143:
Machine Hours 12 for Painting and 4 for Drying
Labour Hours 4 for Painting and 3 for Drying
Materials €45 for Painting €10 for Drying
Floor Space 1,000 sq ft. Painting 2,000 sq ft Drying
Total Labour hours 100 Painting 400 Drying
Total Machine hours 80 Painting 20 Drying
Wage rate €8 per hour for Painting €6 per hour for Drying

Question:
(1) Find suitable absorption rates for each of the overheads.
(2) Price the job if there is a 25% mark up on cost


Solution:
(1) Factory Maintenance and Machinery Servicing are specific to production and should be absorbed separately by each department. We will absorb Factory Maintenance based on Labour Hours and share the overhead based on the Floor Space of each Department so the rates are:

Factory Maintenance €600= €200 for Painting €400 for Drying since Painting has one third of total floor space
Absorption Rate 200/100 = €2 per Labour Hour for Painting and 400/400 = €1 per Labour Hour for Drying 

We will absorb Machinery servicing based on machine hours in each department and share the cost based on Total Machine hours

Machine Servicing €400 = €300 for Painting and €100 for Drying
Absorption rate 300/80 and 100/20
=€3.75 per MH for Painting and €5 per MH for Drying


Office charges are general to the whole business so we could absorb them based on things like sales, floor space, material cost, prime cost, etc. I have decided to use Labour hours so the formula is Office Charges divided by Total Labour Hours;

Office charges absorption rate €1,000/500
=€2 per LH
(2) Job cost: Job 143
€
Materials Painting 45
Drying 10
Labour Painting 32
Drying 18
Prime Cost
Factory Maintenance absorbed Painting (4x2) 8
Drying (1x3) 3
Machine Servicing absorbed Painting (12x3.75) 42
Drying (4x5) 20
Office Charges absorbed (7x2) 14

Total Cost € 192

Profit 48

Job Price € 240

